February 15, 2017

9-1 Intro to Transformations

Objectives:

- | can use the proper vocabulary and
notation when it comes to translations

- | can identify rigid motion
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Vocab List
Image: Ol reR Ty ansLor HATIEN
Pre-image: befo RE€ Trawns Lopmarioh

line segment: Line b/A KX PpeinTs A
angle: pne ez A poinrs meet <A

corresponding sides: Same side AR~CD
o €L epen+ Shape

corresponding angles:
Same. (- LACR

e {"ﬂszH Shpe
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Given that AABC is the pre-image of AA'B'C"

state the following:
C P}?'(‘O?e

A — B
Corresponding sides

AR ™ AWR
AC AN C\

BT

a{€r
Cl

A B!

Corresponding Angles
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Given that APQOR is the pre-image of AP'Q'R'

state the following:

QI
R R'
P AQ
PI

Corresponding Sides Corresponding Angles
e~ SP <P

TR~ T, <q\’<Q\
T\' Q\E\ <‘R/\/<§\
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State the corresponding sides and
angles of pre-image aJKL and image aPOM

J A
50 39 39 @ 40
K '/d') m\i L P ’@. Q
40 50

Corresponding sides Corresponding Angles
_ - —~
L ~ QM <K < O
<L~ M
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Given aABC perform the following

1. Reflect over
X-axis

b\\'A,A 7~ B 2. Move up 3
S -9 -8 -7 -6 -5 -4 -3\2\l 1 2 6 8 9 "X
\\iA é?é I7 7B 3. Move left 4
EEEN\V7| }.‘Z [ 4. stretch out 2

C

 J

Which movements kept the triangle the same shape

and size? J @\% R\ﬂlb MO7 ION

Which movements changed the size and shape of the
triangle?  <q_
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Rigid Motion:

Same Shap€
Same S12€

Examples: Reflections, rotations, translations

—_—
VB, down, € +

b= (SV\(_
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|dentify if the change from pre-image ABCD
to image A'B'C'D’ is ridged or not

D C: Dl C'

| T ‘
Why or Why not \,/8(/6/) Sq\fv\z h@?9§
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|dentify if the change from pre-image ABCD
to image A'B'C'D’ is ridged or not

A
Why or Why not: NQ RS erent S12¢
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Translation means:

gh-\,ﬂ—ms

This is an example of rigid motion

Notation mecg Righe &,

<5 —2> (x y)

TRQ")S/Q"(

L@C*';?\g N, up o
mww

kj MoveS Aown X
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Given ABCD perform the following
transformation

~

D ; C

T;\I&,—“P(xay) D‘rs c'
?\‘th—\ > : 7
~-9 8 -7 6 F -4 -3 P - 12 4 45 \6 7 8 9 X

dvwnl A e
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Given ABCD perform the following
transformation

>

\ 1 |
T, . (x,y) Y1 &

L'e_(‘.,- 4_ ‘-9-8-7-6-5-4-3-2-1-A2345678!3(
dowh Al
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Given AABC perform th

T<0,5>(x9y)
up 2

e following translation

A

N

1\2 3 4 5 6 7 8 9 °X

N

B
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Given the pre-image AABC and the image
AA'B'C " write the translation that was
performed
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Given the pre-image PQRS and the image
P'Q'R'S' write the translation that was

performed

YA

< -
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Given the pre-image aAJKL and the image
AJ'K'L' write the translation that was
performed ;

Lefy ©
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Harry, Ron, and Hermione are visiting Hogsmeade for the
day. From the castle they walk 2 blocks east and 3 blocks
south to the coffee shop. Then they walk 3 blocks west and
5 blocks south to the book shop. Where is the book shop in
relation to the castle?

/r\

ym

M=




